gboogn 20130 000000000000

420130000000000000 P

n 0o f(:r)zlog(x—l—l)—%log(xz—l-l) (x> —1)0D0oDOooo0DOO0O0O0O0OOO00
(1) f(x)ooOOopoOOOOODOOOOOO

(2) ROODODOODODxOOODODOO f(x)=R00000000O0OOOOOOOO
(3) nDoy=f(x), x000000 x=10000000000SO00000

g kOODOOOOOOD20000
Ci:y=cosx <0§x§%>, Cy:y=rFktanx <O§x<%>

0o000000000000
(D CﬂJQDDDDDDDDDDDDDDDDDDEb&DDDDDDeb@DDDDDG<O§6§%)
000000l O0O0OOOno

(2) kZ%DDDDDD C,,C0y000000000 z0000000O00O0DOO0OOOOOOOV
goooo

1 —1 c
Ooooo0o0oooooon
(1) b,d0 a,c0000

(2) B2=B0O0O0O0 BOOOOOOOO

4 —6 a b
g oo A=< >,B=< d)IZIDD AB=BA, cx0000000ooC=A—-—B0O

(3) ()0000D BOOODODOODODOC"ODODOOODD nOO0DOOOOD
(4) A00000000nO0000OOOO0O

000 OABOOOOD O0OOOO ABOODDDOOOOOOD HOOOOO ABOOODO MOOD
MODOD ABOODOODOOOD OADODOD NOOOOOA=g OB=b00o0lal =3, |3 =2,
¢-b=p000000000000000
(1) OHO ¢, bOOO pOOOOOOD

(2) ONO ¢, bOO0 pO00DOO0
(3) p=20ooooOO %DDDDDDDDDD

(4) o Nooo OAD 1:300000000000 OABOOOD SooooO

- |DDDDDDDDI ~

¥ (IDooooooo0oooooo
AR &Y (IDooooo000000000
B8 &E (Cloo

% (BJoooooooo

©ooooo00DonDoodmakoto



20030 000000000000

gg

(1

(2)

(3)
(D

(2)
(1)

(2)

(3)

(4)

(1)
(2)
(3)
(4)

x -1 - 1
f(x) + 0 —
f(x) / %logZ N

ooo %logZ (x=1)

k>%1og2DDD 00

kzélogZDDD E<00000 10

O<k<%log2DDDD 20
_ 3 _
S—210g2 1
_
2
11 5 543
V=11 8
=—6¢c, d=a—>5c
3 —6 —2 6
B= ,
1 -2 1 3
3 —6 10
B= ooooct=
1 -2 0 1
2 6 3.9n —3.gntl
B = gopooct =
_1 3 2n _2n+1
3.0n 9 3.t 4
An =
o1  —ontl 3
~_ p—d = p—9 =
OH= 5 —q5a+ 3,— 130
— 5 -
ON 18—2pa
5 _ON_5
18 =0A <6
_ %
2

©oooo0o0o00o0ooDomakoto



